

| BID RECAP | | | | | | | | | |
|-------------------------------------|----------------------------------|--|--|--|--|--|--|--|--|
| SOLICITATION TITLE: | 2017 Contract Street Maintenance | | | | | | | | |
| SOLICITATION NUMBER: IFB-4317-17-DH | | | | | | | | | |
| OPENING DATE: | 1/13/2017 | | | | | | | | |
| OPENING TIME: | 3:30pm | | | | | | | | |
| PROJECT MANAGER: | Justin Vensel | | | | | | | | |
| BUYER NAME: | Duane Hoff Jr. | | | | | | | | |

| Company | Acknowledged Addenda 1&2 | Contractor's Bid Form | Bid Bond | Mandatory Prebid Attendance | Bid Schedule - Addendum 1 | Bid Amount | Comments |
|-------------------|-----------------------------|--------------------------|----------|--------------------------------|------------------------------|----------------|----------|
| Elam Construction | Yes | Yes | Yes | Yes | Yes | \$1,820,383.50 | |
| United Companies | Yes | Yes | Yes | Yes | Yes | \$2,014,267.25 | |
| | | | | | | | |
| | | | | | | | |
| | | | | | | | |
| | | | | | | | |
| | | | | | | | |
| | | | | | | | |
| | | | | | | | |
| | | | | | | | |
| | | | | | | | |
| | | | | | | | |
| | | | | | | | |
| | | | | | | | |
| | | | | | | | |
| Apparent Low: | • | | | | | | |
| Amount: | | | | | | | |
| | | | | | | | |
| | | | | | | | |

Bid Summary

2017 Asphalt Overlays & Pavement Preservation

Bid Opening: January 13, 2017

| | | Justin Vensei, Project Engineer | | | Engineer's Estimate | | | Elam Construction | | | | United Companies | | | | |
|------|-----------|--|----------|--------|---------------------|------------|----------|-------------------|----|------------|----|---|----|------------|----|--------------|
| | | | | | | | | | | | | | | | | |
| Item | CDOT, | Description | 0 | 13-24- | | Hall Dales | p | | | | _ | , | | | _ | |
| No. | City Rei. | Description | Quantity | Units | | Unit Price | =; | xtended Price | - | Unit Price | Ex | tended Price | | Unit Price | Ex | tended Price |
| 1 | 202 | Removal of Asphalt Mat (Planning) (0"to2.5") | 78,800. | SY | \$ | 2.20 | \$ | 173,360.00 | \$ | 1.95 | \$ | 153,660.00 | \$ | 2,10 | \$ | 165,480.00 |
| 2 | 203 | Unclassified Excavation | 100. | CY | \$ | 21,00 | \$ | 2,100.00 | \$ | 25.00 | \$ | 2,500.00 | \$ | 22.00 | \$ | 2,200.00 |
| 3 | 210 | Adjust Valve Box (Price to include adjustment of survey monuments) | 188. | EA | \$ | 105,00 | \$ | 19,740.00 | \$ | 35,00 | \$ | 6,580.00 | \$ | 70,00 | \$ | 13,160.00 |
| 4 | 210 | Adjust Manhole Ring and Cover (Sanitary and Storm Sewer) | 103. | EA | \$ | 700.00 | \$ | 72,100.00 | \$ | 525.00 | \$ | 54,075.00 | \$ | 485.00 | \$ | 49,955.00 |
| 5 | 210 | Adjust Manhole Ring and Cover (Telephone and Xcel) | 3. | EA | \$ | 900.00 | \$ | 2,700.00 | \$ | 525.00 | \$ | 1,575.00 | \$ | 900.00 | \$ | 2,700.00 |
| 6 | 304 | Shoulder Widening (4' beyond existing edge of asphalt)(removal of existing media if other than base course material to match existing road cross slope)(see description in special provisions) | 560. | SY | \$ | 2.90 | \$ | 1,624.00 | \$ | 2.00 | \$ | 1,120.00 | \$ | 2.00 | \$ | 1,120.00 |
| 7 | 304 | Aggregate Base Course (Class 6) | 155. | Ton | \$ | 26,00 | \$ | 4,030.00 | \$ | 17.50 | \$ | 2,712.50 | \$ | 26.00 | \$ | 4,030.00 |
| 8 | 304 | Aggregate Base Course (Class 6) (Shoulder Gravel) | 455. | Ton | \$ | 26.00 | \$ | 11,830.00 | \$ | 21.00 | \$ | 9,555.00 | \$ | 28.00 | \$ | 12,740.00 |
| 9 | 401 | Hot Mix Asphalt (8" Patching, Full Depth Asphalt)(Grading SX 75 Binder Grade 64-22)(Price to include removal of material 8" below milled asphalt or surface to be paved over or Chip sealed over) | 870. | Ton | \$ | 160.00 | \$ | 139,200.00 | \$ | 105.00 | \$ | 91,350.00 | \$ | 150.00 | \$ | 130,500.00 |
| 10 | 401 | Hot Mix Asphalt (4" Patching, Full Depth Asphalt) (Grading SX 75 Binder Grade 64-22) (Price to include removal of material 4" below milled asphalt or surface to be paved over) (Sewer Line | 457. | Ton | \$ | 87,00 | \$ | 39,759.00 | \$ | 105,00 | \$ | 47,985.00 | \$ | 147.00 | \$ | 67,179.00 |
| 11 | 401 | Rehabilitation)(Trench Patching) Hot Mix Asphalt (Top Mat)(Grading SX 75 Binder Grade 64-22) | 7,170. | Ton | \$ | 85.00 | \$ | 609,450.00 | \$ | 72.00 | \$ | 516,240.00 | \$ | 85.00 | \$ | 609,450.00 |

Bid Summary 2017 Asphalt Overlays & Pavement Preservation

Bid Opening: January 13, 2017

| | | | | Engineer's Estimate | | | Elam Construction | | | | | United Companies | | | | | |
|-------------|--------------------|---|----------|---------------------|---------------------------|-----------|-------------------|---------------------------|-----------------|---------------|---------|------------------|-----------------|--------------|----|------------|--|
| Item No. | CDOT, City Ref. | Description | Quantity | Units | Unit Price Extended Price | | | Unit Price Extended Price | | xtended Price | Unit Pr | | Ex | tended Price | | | |
| 12 | 401 | Hot Mix Asphalt (Top Mat)(Grading SX 75 Binder Grade 76-28) | 5,855. | Ton | \$ | 100.00 | \$ | 585,500.00 | \$ | 82.00 | \$ | 480,110.00 | \$ | 95.75 | \$ | 560,616.25 | |
| 13 | 620 | Sanitary Facility | 1, | LS | \$ | 700.00 | \$ | 700.00 | \$ | 500.00 | \$ | 500,00 | \$ | 500.00 | \$ | 500,00 | |
| 14 | 626 | Mobilization | 1. | LS | \$ | 70,000.00 | \$ | 70,000.00 | \$ | 80,000.00 | \$ | 80,000,00 | \$ | 45,000.00 | \$ | 45,000,00 | |
| 15 | 630 | Traffic Control (Complete in Place) | 1. | LS | \$ | 36,000.00 | \$ | 36,000.00 | \$ | 26,200.00 | \$ | 26,200.00 | \$ | 46,500.00 | \$ | 46,500.00 | |
| 16 | 630 | Traffic Control Plans | 1. | LS | \$ | 700.00 | \$ | 700.00 | \$ | 200.00 | \$ | 200.00 | \$ | 250.00 | \$ | 250.00 | |
| 17 | 630 | Flagging | 1,900. | HR | \$ | 26.00 | \$ | 49,400.00 | \$ | 29.55 | \$ | 56,145.00 | \$ | 25.00 | \$ | 47,500.00 | |
| 18 | | Pavement Preservation (Chipseal) | | | | | | | | | | | | | | | |
| 19 | 409 | Cover Coat Material (Type I Special) | 77,200. | SY | \$ | 1.80 | \$ | 138,960.00 | \$ | 1.25 | \$ | 96,500.00 | \$ | 0.80 | \$ | 61,760.00 | |
| 20 | 411 | Emulsified Asphalt (CRS-2P or CRS-2R) | 29,336. | GAL | \$ | 1.15 | \$ | 33,736.40 | \$ | 1.80 | \$ | 52,804.80 | \$ | 1.50 | \$ | 44,004.00 | |
| 21 | 411 | Fog Seal - Emulsified Asphalt (CRS-2P or CRS-2R) Dilution Rate of 60-40 | 8,878. | GAL | \$ | 0.90 | \$ | 7,990.20 | \$ | 1.20 | \$ | 10,653.60 | \$ | 3.50 | \$ | 31,073.00 | |
| 22 | 620 | Sanitary Facility | 1. | LS | \$ | 800.00 | \$ | 800.00 | \$ | 65.00 | \$ | 65,00 | \$ | 500.00 | \$ | 500.00 | |
| 23 | 626 | Mobilization | 1. | LS | \$ | 13,000.00 | \$ | 13,000.00 | \$ | 17,800.00 | \$ | 17,800.00 | \$ | 7,500.00 | \$ | 7,500.00 | |
| 24 | 630 | Traffic Control (Complete in Place) | 1. | LS | \$ | 7,000.00 | \$ | 7,000.00 | \$ | 5,100.00 | \$ | 5,100.00 | \$ | 6,000.00 | \$ | 6,000.00 | |
| 25 | 630 | Traffic Control Plans | 1. | LS | \$ | 1,000.00 | \$ | 1,000.00 | \$ | 50.00 | \$ | 50.00 | \$ | 250.00 | \$ | 250.00 | |
| 26 | 630 | Flagging | 572. | HR | \$ | 26.00 | \$ | 14,872.00 | \$ | 29.55 | \$ | 16,902.60 | \$ | 25.00 | \$ | 14,300.00 | |
| INC | | Incentive HMA 64-22 All except Prelevel and Patching | | | \$ | 20,000.00 | \$ | 20,000.00 | \$ | 20,000.00 | \$ | 20,000.00 | \$ | 20,000.00 | \$ | 20,000.00 | |
| INC | | Incentive HMA 76-28 | | | \$ | 20,000.00 | \$ | 20,000.00 | \$ | 20,000.00 | \$ | 20,000.00 | \$ | 20,000.00 | \$ | 20,000.00 | |
| MCR | | Minor Contract Revisions | | | \$ | 50,000.00 | \$ | 50,000.00 | \$ | 50,000.00 | \$ | 50,000.00 | \$ | 50,000.00 | \$ | 50,000.00 | |
| | | | | TOTAL BID: | D: \$ 2,125,551.60 | | | | \$ 1,820,383.50 | | | | \$ 2,014,267.25 | | | | |

Bid Summary 2017 Asphalt Overlays & Pavement Preservation

Bid Opening: January 13, 2017

| _ | by: | Justin Vensei, Project Engineer | | | | | | |
|-------------|--------------------|--|----------|-------|-------------------|--------------------|----------------------|---------------------------|
| Item No. | CDOT, City Ref. | Description | Quantity | Units | Low Unit Price | High Unit Price | Median Unit Price | Average Unit Price |
| 1 | 202 | Removal of Asphalt Mat (Planning) (0"to2.5") | 78,800. | SY | \$ 1.95 | \$ 2.10 | \$ 2.03 | \$ 2.03 |
| 2 | 203 | Unclassified Excavation | 100. | CY | \$ 22,00 | \$ 25,00 | \$ 23,50 | \$ 23,50 |
| 3 | 210 | Adjust Valve Box (Price to include adjustment of survey monuments) | 188. | EA | \$ 35.00 | \$ 70.00 | \$ 52,50 | \$ 52,50 |
| 4 | 210 | Adjust Manhole Ring and Cover (Sanitary and Storm Sewer) | 103. | EA | \$ 485.00 | \$ 525.00 | \$ 505.00 | \$ 505.00 |
| 5 | 210 | Adjust Manhole Ring and Cover (Telephone and Xcel) | 3. | EA | \$ 525.00 | \$ 900.00 | \$ 712.50 | \$ 712.50 |
| 6 | 304 | Shoulder Widening (4' beyond existing edge of asphalt)(removal of existing media if other than base course material to match existing road cross slope)(see description in special provisions) | 560. | SY | \$ 2.00 | \$ 2.00 | \$ 2.00 | \$ 2.00 |
| 7 | 304 | Aggregate Base Course (Class 6) | 155. | Ton | \$ 17.50 | \$ 26,00 | \$ 21.75 | \$ 21.75 |
| 8 | 304 | Aggregate Base Course (Class 6) (Shoulder Gravel) | 455. | Ton | \$ 21.00 | \$ 28.00 | \$ 24,50 | \$ 24.50 |
| 9 | 401 | Hot Mix Asphalt (8" Patching, Full Depth Asphalt)(Grading SX 75 Binder Grade 64-22)(Price to include removal of material 8" below milled asphalt or surface to be paved over or Chip sealed over) | 870. | Ton | \$ 105.00 | \$ 150.00 | \$ 127.50 | \$ 127.50 |
| 10 | 401 | Hot Mix Asphalt (4" Patching, Full Depth Asphalt) (Grading SX 75 Binder Grade 64-22) (Price to include removal of material 4" below milled asphalt or surface to be paved over) (Sewer Line | 457. | Ton | \$ 105,00 | \$ 147,00 | \$ 126.00 | \$ 126.00 |
| 11 | 401 | Rehabilitation)(Trench Patching) Hot Mix Asphalt (Top Mat)(Grading SX 75 Binder Grade 64-22) | 7,170. | Ton | \$ 72.00 | \$ 85.00 | \$ 78.50 | \$ 78,50 |

Bid Summary

2017 Asphalt Overlays & Pavement Preservation

Bid Opening: January 13, 2017

| Item No. | CDOT, | Description | Quantity | Units | | Low Unit Price | High Unit Price | Median Unit Price | Average Unit Price |
|-------------|------------|---|----------|------------|----|-------------------|--------------------|----------------------|-----------------------|
| | 011, 1101. | Boompaon | Guarity | Offica | ļ | | | | OTHER FICE |
| 12 | 401 | Hot Mix Asphalt (Top Mat)(Grading SX 75 Binder Grade 76-28) | 5,855. | Ton | \$ | 82.00 | \$ 95.75 | \$ 88.88 | \$ 88,88 |
| 13 | 620 | Sanitary Facility | 1. | LS | \$ | 500,00 | \$ 500.00 | \$ 500.00 | \$ 500.00 |
| 14 | 626 | Mobilization | 1. | LS | \$ | 45,000.00 | \$ 80,000.00 | \$ 62,500.00 | \$ 62,500.00 |
| 15 | 630 | Traffic Control (Complete in Place) | 1. | LS | \$ | 26,200.00 | \$ 46,500.00 | \$ 36,350.00 | \$ 36,350.00 |
| 16 | 630 | Traffic Control Plans | 1. | LS | \$ | 200.00 | \$ 250.00 | \$ 225.00 | \$ 225.00 |
| 17 | 630 | Flagging | 1,900. | HR | \$ | 25.00 | \$ 29.55 | \$ 27.28 | \$ 27.28 |
| 18 | | Pavement Preservation (Chipseal) | | | | | | | |
| 19 | 409 | Cover Coat Material (Type I Special) | 77,200. | SY | \$ | 0.80 | \$ 1.25 | \$ 1.03 | \$ 1.03 |
| 20 | 411 | Emulsified Asphalt (CRS-2P or CRS-2R) | 29,336. | GAL | \$ | 1.50 | \$ 1.80 | \$ 1.65 | \$ 1.65 |
| 21 | 411 | Fog Seal - Emutsified Asphalt (CRS-2P or CRS-2R) Dilution Rate of 60-40 | 8,878. | GAL | \$ | 1.20 | \$ 3.50 | \$ 2.35 | \$ 2.35 |
| 22 | 620 | Sanitary Facility | 1. | LS | \$ | 65.00 | \$ 500.00 | \$ 282.50 | \$ 282,50 |
| 23 | 626 | Mobilization | 1. | LS | \$ | 7,500.00 | \$ 17,800.00 | \$ 12,650.00 | \$ 12,650.00 |
| 24 | 630 | Traffic Control (Complete in Place) | 1. | LS | \$ | 5,100.00 | \$ 6,000.00 | \$ 5,550.00 | \$ 5,550.00 |
| 25 | 630 | Traffic Control Plans | 1. | LS | \$ | 50.00 | \$ 250.00 | \$ 150.00 | \$ 150.00 |
| 26 | 630 | Flagging | 572. | HR | \$ | 25.00 | \$ 29,55 | \$ 27.28 | \$ 27.28 |
| INC | | Incentive HMA 64-22 All except Prelevel and Patching | | | \$ | 20,000.00 | \$ 20,000.00 | \$ 20,000.00 | \$ 20,000.00 |
| INC | | Incentive HMA 76-28 | | | \$ | 20,000.00 | \$ 20,000.00 | \$ 20,000.00 | \$ 20,000.00 |
| MCR | | Minor Contract Revisions | | | \$ | 50,000.00 | \$ 50,000.00 | \$ 50,000.00 | \$ 50,000.00 |
| | | | , | TOTAL BID: | | | | | |